
Heathlodge, Heathside NW3 1BL 

 

   

T1: Robinia      T2: Mulberry 

T1: Robinia (14m): Fell due to bifurcation and fused branches, tree 4m from building. Due to the 

trees location and the bifurcation, the tree needs repeated reduction work which is resulting in an 

unsightly tree and the client wishes to fell and re-plant with a more suitable species. Client wishes to 

plant an Acer Campestre with a height of 3m-4m.  

T2: Mulberry (8m): Pollard to 6m removing 2m of growth to reduce risk of failure due to lean over 

driveway 


